CodeNo. |\ — 2328

Entrance Examination for Admission to the P.G. Courses in the
Teaching Departments, 2025

CSS
RUSSIAN LANGUAGE AND LITERATURE

General Instructions

1. The Question Paper is having 100 Objective Questions, each carrying one mark.
2. The answers are to be (v) ‘tick marked’ only in the “Response Sheet” provided.

3. Negative marking : 0.25 marks will be deducted for each wrong answer .

Time : 2 Hours Max. Marks : 100

To be filled in by the Candidate

Register | in Figures
Number

in words

Choose appropriate answer from the options in the questions.
(100 x 1 = 100 marks)

1. Mark the gender of the word «cnosapb»

A. masculine B. neuter
C. feminine D. common



2. Mark the gender of the word «a6noko»:

A. masculine B. common
C. neuter D. feminine

3. «bonswoe 3ganue» relates to the following gender

A. masculine B. neuter
C. feminine D. common

4. The word «My3eit» belongs to which of the following gender?
A. masculine B. feminine
C. neuter D. common
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10.

11.

Choose the wrongly spelt word
A. BOAR B. Baca

C. BWHO D. sopy

Which sentence denotes the plural form?
A. Yein aTOT yuebHUK?

Ubs 3TO KHWra?

B
C. UbMK 3TO KapaHApaLK?
D

Upé 3TO OKHO?

Choose the incorrect sentence:
A. OH rosopio no-pyccku B.  OHM roBopAT NO-PYCCKI

C. OHarosopuT no-pyccku D. £ rosopto No-pyccku

Choose the correct expression from those given below :

A. JOoGpbie AeHb! B. [o6puii Beuep!

C. Hobpoe Houb! D. Jobpoe ytpal

Choose the correct preposition to fill up the blank : «Acwky — CTyne».
A. B B. K

C. C D. Ha

Choose the correct adjective combination from below :
A. | 3HaKOMBbIl CTYAEHTI B.  3naxomas cTypeHT

C. 3naxoman cTyneHTKa D. 3HaxOMOE CTYAEHTKM

Select the singular form from the following words:

A. | 6pates B. nepobs

C. AaepeBHA D. Aepesbs
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12.

13.

14.

15.

16.

17.

18.

19.

Choose the perfective aspect of verb «6patb»

A.
C.

Choose the correct Russian letter to complete the word «u-coi»:
A.
C.

B3ATL

KynuTL

]
a

B.
D.

B.
D.

Mark the plural form of the word nucbmo:

A.
C.

nUCbMbl

nucbma

B.
D.

Select the meaning of the word | «3uman:

A.

Spring

C. Autumn

CnoBo «pbibak» 3HauUT

A.
C.

Fish
Fishing

B.
D.

B.
D.

-KnacTe
cKasarh

bl

o

NMCbMW

nucem

Summer
Winter

Fisherman
Fishing rod

Choose the perfective aspect of verb «paate»

A.
C.

caaTtb
CAaBaTbL

B.
D.

hAasatd

path

Choose the feminine noun from those given below.

A.
C.

Choose the plural form of the noun PeGéHok
A.

C.

AEHb

noprdens

noau

HOHOLWMK

B.
D.

B.
D.

TeTpagb

CNoBapb

yenoeex

Aetu
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20.

21.

22.

23.

24.

25.

26.

Complete the sentence choosing correct form of the noun given : CécTpa npér

A. wKona

C. BLxony

KTo repovHa pacckasa «Matb» ?

A. Bepauka
C. AuTOHUHA MBaHOBHA

K10 Hanucan «Crapuiii [lea v Buydexs?

A. AN.Yexos
C. NH.Toncro#

Kto pacckcaan Boske o caoeit 6abyLuke?

A.  Dpyr
C. Mama

KTo Hanucan paccka3 «CmepTb YuHOBHUKA» ?

A. A.H.Toncroi
C. f.Nantenees

B.
D.

B LLUKONE

O lxone

Onra

»KaHHa

B.Bo4yapHuKoB
K.MaycroBckun

Cocep

Buta

All.Yexos
H.A.Hexpacos

Which of the words given below denotes singular?

A. poma
C. crpana

Complete the sentence choosing the

WNHxeHephbl

A. Paborartb

C. PabBoraer

Ha 3aBoje.

B.
D.

B.
D.

ropoaa
npodpeccopa

correct form of verb

Paboraio

PaboTaioT

given
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27.

28.

29.

30.

31.

32.

33.

Complete the sentence choosing the appropriate pronoun

given : BoT uayT MoM ApY3bA. Bpauu.
A.  Onu B. oHo
C. oHa D. oH

Complete the sentence choosing the correct form of the adjective given
- OHu yutaloT rasery.

A. HOBbi# B. HoBoe

C. HoBy® D. HoBue

Choose the incorrect sentence :

A. Kako# ato poM? B. Kaxue 310 NUCbMO?

C. Kakan ato kHura? D. Kakoe aTo aepeBo?

KTo Hanucan pacckaa «Tpyc»?

A.  ANYexos. B. KCUMOHOB
C. C.AEceHun D. N.Nautenees

Mark correct possessive pronoun : €370 . TOPOA».

A. Haw B. Hawa

C. Hnawe D. Hawwu

Choose the correct interrogative pronoun : « aTo obexuTue»?
A, Heu B. Ubn

C. Men D. Ybe

Mark the sentence denoting UK 2:
A. Tomuuraer. B. Tom uutaet?

C. Kakuutaer Tom? D. Tomuutaer. A TaHa?
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34.

35.

36.

37.

38.

39.

40.

Choose the correct preposition missing : «YTPOM £ Gbinl _ AOKTOPa>.

A. C B. Y
C. K D. OT

. . 2
Mark the correct interrogative word ; € ——— CSrOAHA ASHb

A. KaKoe B . Kame

C. Kakas D. Kakoin

Choose appropriate word to fill the blank: </ MeHAHET __.»

A.  y4ebHuK B. y4eOHuKu

C. yuebHuka D y4ebHukom

Choose the correct verb form to fill the blank : «3aHauTsa ___ B 9 yacos».
A. HaumHaTbCA B. HaumHaeTcs

C. HauvHaloTCH D. HauuHancs

Choose the correct English equivalent for «Marasuh».

A. Magazine B. Shop

C. Journal D. Meeting

Mark the suitable word to complete the proverb :; ¢—— - c#na».
A. 3uam B.  Yuursea

C. 3Hanue D. VYueHbe

Identify the author of the work «MNapyc»?

A.  K.CumoHos B.  C.AEcenmH

C. M.IO.NepmoHTOB D. AxceHoBa
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41.

42.

43.

44,

45.

46.

47.

Choose the Gender of the word « aBepb»
A. masculine B. feminine
C. common D. none of these

Mark suitable word in the following sentences :

« YYaCTHWKOB BbICTYynanu B BebruHape?».
A.  Heckonbko B. Ckonbko
C. Hacroneko D. MHoro

Choose the Antonym of the word «rpomko»
A.  nnoxo B. o

C. TpyaHo D. MeaneHHo

KTo Hanucan paccka3s «Matb» ?
A.  M.I0.NepmoHTOR B. B.BauapHuKos.
C. N.H.Toncron D. H.AHekpacos

Choose the Russian equivalent of the word “capital:

A. kanutan B. cTtpana

C. cronuua D. crtpanuua

Insert the correct form of adjective: «Y MeHsi ectb ____ kHura».
A.  wvHTepecHbi B. wuHTepecHoe

C. WHTepecHas D. WHTepecHbie

Choose suitable antonym of the word combination €TPYAHbI# TEKCT»

A.  NPOCTOW TeKCT B. ManeHbKMiA TeKCT

C. NErKuiA TekcT D. HemaneHbkuA TEKCT

V —-2328



48.

49.

50.

51.

52.

53.

54.

«Kau meHs, u 1 BepHycb» - Who wrote these lines?
A.  AC MywkuH B. MIO llepmonToB

C. K.CumoHos D. M.ByHH;-I

YTOo 3HAYMT CNOBO «Tpyc»?

A. Cruel B. Coward
C. Lazy D. Wise

Choose the poem written by AS Pushkin from the following
A. Napyc B. >Xau mens

C. 'Beuep D. Tyua

Complete the sentence using suitable conjuctive word given below :

Buepa ko mHe npuexan Moi apyr, YUYUNCH CO MHOW B LLKONE.
A.  KOTOpOMY B.  kotopbim
C. KOTopbiA D. ckoTopbim

Choose the incorrect sentence form the following :
A.  fuuraio xypHan. B. Acnpocun otel.

C. A nobnio mamy. D. Ona nobur matb

Choose correct form of the verb below to fill the blank:

«HuHa B Konneaxe».
A. YYUTb B. yYUTBHCA
C. yuutcs D. yuarca

What is the Russian for “Native State”?

A.  Popgnoit paiton B. Poanow wrar

C. Poanas crpana D. PogHa
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99.

56.

57.

58.

59.

60.

61.

Insert suitable conjunctive word in the following sentence:

CkaxwuTte, noxanyncra, « 6ubnuoTteka»?
A. Kak B. kakow
C. «orga D. FfAe

Mark the meaning of « MHe xouertcs cnaTe»

A. | feel happy B. | feel headache
C. |feelsad D. |feel sleepy

Insert the correct personal pronoun given below

A nogapun CYMKY.
A ed B. ero
C. KHewmy D. YyHero

Complete the sentence choosing correct word combination given below :
CKopo OH CTaneT

A. W3BECTHbI MO3T B. U3BECTHLIM TO3TOM

C. M3BECTHGIO NO3TA D. U3BECTHbBIM NO3Ta

Choose correct form of the verb to fill in the proverp “B&K " BeK yuncely.
A, 1xXATb B. s

C. XvBu D. xuBy

What is in Russian for “Monday”?

A. MoHepenbHUK B. Yetsepr

C. Bockpecenbe D. Cy66ora

What is the Russian for “July”?
A. WohHb B. Asryct

C. Wom D. Mapt
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62.

63.

64.

65.

66.

67.

Complete the question using correct form of verb : «4to ____ Ha ctone»?

A. nexan B. nexano

C. nexanu D. nexana

Complete the sentence using correct form of verb : «neTb».

Mapus NPexKpacHo.
A. noéwb B. noém
C. noér D. nowoTt

Identify the poem from which the following lines are taken :

«YBbl! OH CHACTUA HE ULLET, ..... M He oT cyacTus GexuT!»

A yauuk B. Mapyc
C. Tyua D. Xau mens

Choose the correct sentence from the following :

A. YpPOK HaunHaTCA B 9 4acos. B. Ypok HaunHaeTcs B 9 yacos.

C. Ypoku HaumHaeTcs B 9 yacos. D.  Ypoku HaumHaemcs B 9 yacos

Mark the correct form of pronoun «kotopui» in the following sentence :

« B napke cugenu CTyAeHTbI, ——-——-— 1 XOPOLLIO 3Ha.
A.  xotopyio B. kotopbie
C.  kotoporo D.  kotopbix

Mark the Russian equivalent of the English “Nina is 21 years old”
A.  Huma 21 rop. B.  Hune 21 ropa

C. Hune21roa D.  Huny 21 ner
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68.

69.

70.

71.

72.

73.

74.

Mark the correct case form of the word in the sentence : «y menst HET ————».
A. Pyuka B. pyuky
C. pyukn D. Pydku

KTo mama B pacckase «Mama un cpyt6on»?

A.
C.

nesvua

apTucTka

yYuTenbHULAa

6anepuHa

Mouemy manbuuk B pacckase «Tpyc» noweén Ha mope ?

A.
C.

Kyaa noexana mama oTAbixaTb?
A.
C.

Mark the incorrect combination :

A.  xapkuit knumar

C.

KynaTtbca

urpaTthb

B Mocksy

B UpKyTCK

Xapkumi yan

B.
D.

nnaeatb

nosuTb poiby

Ha or

Ha CTafWUOH

XapKUil AEHb

Xapkaa noroga

O kom Hanucan B.BoyapHUKOB B CBO&M pacckase?

A.
C.

0 CBOEU Mame

06 AHTOHUHE

B.
D.

Mark the genre of «Crapuit aep v BHyuek»

A.
C.

pacckas

nbeca

12

0 CBOé&M gpyre

O CBOEM CbiHe

6acHA

CKa3ka
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75.

76.

77.

78.

79.

80.

81.

-_—

Kak 30ByT BHyKa B «CTapbiii A€ U BHYYEK» ?
A. Mawa B. Mapra
C. Mwuuwa D. [Opa

Use suitable interrogative word : «__ 3710 pyuka?»
C.  Yen D. Uss

Choose the singular noun from the following :

A. ropoga B. napra
C. wkadpbl D. Aem

Complete the sentence choosing past tense form of noun given below :
«Beuepom apy3bs ___ Tenesnsop»

A. CmoTtpeTtb B. cmotpen

C. Cwortpenu D. cmoTpaT

Which of the following is a plural noun?
A. XypHan B. CTaauoH

C. 30HT D. crymen

Kak no-aHrnuMicku cnoeBo «malumHa »?

A. machine B. mobile
C. car D. engine

Kak no-pyccku * “a dictionary”™?

A. TeTpaab B. cnosaps

C. y4ebHuk D. noptdens
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82.

83.

84.

85.

86.

87.

88.

Russian Alphabet consists of letters.
A. 23 B. 28
C. 27 D. 33

Choose the ordinal numeral of 9:

A. AeBATb B. AesaThiA

C. Aecathin D. peesiHOCTO

Choose the Russian equivalent for the word combination <<in the Last year”:.
A. Bcnegywowem rogy B. B 6yaywem roay

C. B nNpowWnom roay D. B3TOMTroay

Fill the blank choosing future tense form of verb given below :

«3aBTpa CTYAEHTbI AUKTaHT»
A NULYT B Hanucan
C. Hanuwyt D.  Hanucanm

Mark correct form of the verb combination given : «PaGoune ___ agom.»

A. G_blrb CTpPOUTL B. 6yaer ctponts

C. 6GyayTctpouTb D. ©yayCTponTb

Mark correct form of verb in the blank : «Mowi apyr _____ 8C& neTo 8 ropax».
A. nposoxy B. nposoaut

C. npoeoast D. npoeoauwsb

What is the Russian equivalent for “Outstanding Scientist™?

A.  W3BECTHbIN Y4&HLIN B. sblaawowmica y4éHbIn

C. BENUKWA YYE€HbIN D. 3HameHWTbIA Y4EHbIA
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89.

90.

91.

92.

93.

Choose the correct Russian usage for “| wish you all the best”

A. Kenato Bac BCE XOpoLLO.
YKenaio Bac xopowuue.

B
C. >Kenaio Bam BCEro XOpoLuero.
D

*Kenaio Bbl BC& XOpOLUO.

Choose the suitable interrogative word : —— Bbl XAETe»?
A. Ko B. Komy
C. Oxom D.  Koro

Mark the correct form of «kOTOPEIM» in the following sentence:

K Ham npuexana CTy4eHTKa, -——-—-- Bbl XOPOLLUO 3HAEeTe.
A. xoTopbii B. kotopoe
C. koTopas D. KOTOpYIO

Mark the incorrect combination

A. MHOro naccaxumpel

MHOro MHXeHpoB

B
C.  MHOro arporomos
D

MHOro Bpa4en

Choose the correct form of the Number equivalent to XX century
A.  BocemHapuaTbii Bek
B. ABaALIATLIA BEK

AeBATHaALUATLIA BEK

o

D. ABeHajuLaTbiih BEK

15
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94.

95.

96.

97.

98.

99.

Choose the correct Russian equivalent of “We want peace”
A Mbi XOTUM MUD. B. Mbi XoTM MUPY

Mbl xOTUM MUpe Mbi xoTUM MUpa

C. D.

Complete the sentence choosing suitable word given below :

A Xouy, ___ Tbi fan MHE 3Ty KHUry
A.  yto B. utobbi
C. wutoTO D. 4To HWGYAL

Choose correct preposition ;¢ 00€A0M 5 MOIO PyKkM».
A. Ao B. MePeA

c. ot D. uepes

Choose perfective counter part of the verb « NPUXOAUTEY.

A. WATH B exaTb

C.  npuiru D. yitu

Fill the blank with suitable word :«Mosi cectpa Ha cemb neT Monoxe ».
A, mHe B. wmens

C. wuem D. MHOR

Mark the comparative degree of «Ganbwon»:
A.  crapwe B. 6onbwe

C. wmeHbwe D. panswe

100. Mark the name of the National poet of Russia :

A.  Cepreii Eccenmnt B.  Kowcrawtun Cumaros

C.  AnexcaHap Mywkux D. Bnaaumup MaskoBcKkui

16
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ROUGH WORK

18 V —-2328



ROUGH WORK

19 V —-2328



ROUGH WORK

20 V —-2328



